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Parallel and Perpendicular Lines

From the given slopes of the lines, identify whether the two lines are parallel, perpendicular, or neither.

Slope of Line 1

Slope of Line 2
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Slopes of Parallel and Perpendicular Lines

For the given slope, find the slope of any parallel and perpendicular line to it.

Slope of a Line Slope of Any Parallel Line  |Slope of Any Perpendicular Line
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Perpendicular Lines

Find the equation of a line passing through the given point and perpendicular to the given equation.
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Write your answer in slope-intercept form. }’3 X +b >7 w}w} T (X -X )

5) (2,1) and y=- —-x+4

™,
‘}:;w f:: %{i}{#z} %j «%?ﬂﬂﬂ!‘\!(:uv;ﬁ{{a Wé{wd{ﬂf{“é{
I
&,

> s 4 )
+f +
PR (:‘;i b
Y = = X - K3 .
Answer: Ve Exd §'i’~} | Answer: Y= fgﬁ* =
Pd, Slofc : 7 -

PMMMMWWW

2) (0,-1) and -7xX+ 2y = S@WWU 6) (0,3)and y=-4x+4
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